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f(r) = 21534, f(s) = 21543

thDERDEY KX, BREKRTHDEVWIHEHILRES

» £(r?) = f(r)? = (21534)% = 12453

> £(r3) = f(r)3 = (21534)3 = 21345

> f(r*) = f(r)* = (21534)* = 12534

> £(r%) = f(r)® = (21534)° = 21453

» f(rs) = f(r)f(s) = (21534) (21543) = 12354
» f(rs) = f(r?)f(s) = (12453) (21543) = 21435
» £(r3s) = f(r3)f(s) = (21345) (21543) = 12543
> f(r*s) = f(r*)f(s) = (12534) (21543) = 21354
> f(r°s) = f(r®)f(s) = (21453) (21543) = 12435

mehMIS, f: G G IEHEHTHD
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= (21534)3 (21534)° = (21345) (21345) = 12345
f(s)? = (21543)2 = (21543) (21543) = 12345

= (21534) (21543) (21534) (21543)

= (12354) (12354) = 12345 O
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